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S& &9 HUsHo IS 36,000 21,600 14,400
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01 AL ESFH S 60,000 0 60,000
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15,000,000 = 400 A 60,000 0 60,000
=2d4XJ| 35 KNS 30,000 0 30,000
< 9,000 0 9,000
s 21,000 0 21,000
402 RI2FX=01 M 30,000 0 30,000
< 9,000 0 9,000
s 21,000 0 21,000
02 P2 XE2ALEZ(0IETHR) 30,000 0 30,000
ORI 32 NEAMY
10,000,000 * 6JH A * 50/100 30,000 0 30,000
< 9,000 0 9,000
[ia 21,000 0 21,000
SEXNE AR 1,023,790 773,790 250,000
s 320,000 320,000 0
s 703,790 453,790 250,000
SHE SEIHE JI=X& 373,790 123,790 250,000
201 LEt2A | 56,120 62,120 A 6,000
01 AtR 22l | 40,580 46,580 A 6,000
Os&SIHE0I3HHI0I s ZA+=E 34,000 40,000 26,000
-J| =gt 2 & 25,0008 * 40¥ =+ 83l 8,000 10,000 A 2,000
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301 gt d= 6,000 0 6,000
09 BALAHIE &S 6,000 0 6,000
OJs g&us 24
20,0003 = 50H =« 63l 6,000 0 6,000
401 AIEHI L 2 CHEI 250,000 0 250,000
01 A& Bl 250,000 0 250,000
OstEZTEIISANALAH M= 250,000 0 250,000
EH3 sits daAR 1,437,860 1,411,480 26,380
= 240,000 240,000 0
=) 72,000 72,000 0
s 1,125,860 1,099,480 26,380
MZEXH MADgE = 650,925 631,545 19,380
M2 RE A akzte] XI& 650,925 631,545 19,380
201 £B-2dH| 188,617 169,237 19,380
02 =224l 153,559 134,179 19,380
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-ER(HAL) & 1,4603 = 8,0004 11,680 7,300 4,380
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=) 72,000 72,000 0
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OsJIH =el2x 28 486,811 425,377 61,434
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202 (44l 9,750 8,508 1,242
01 S LHOIYI 9,750 8,508 1,242
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